


(iv)
(V)
(vi)

(vii)

\What is surge impedance loading 7
What is skin effect ?

State the advantages of neutral grounding

of an electrical system.

What is the function of a booster 7

(viii) What is the reaction of a voltage wave

(1x)

(x)

(B)

when it see an impedance other than the

surge impedance at the receiving end.

What happens when the capacitive reac-

tance of 2 transmission line is very high ?

What are primary transmission and

secondary transmission ?

How is sag calculated when the supports

are at the same level ? 4

A transmission line conductor consists of
nard drawn copper 240 mm?in X-section
and has a span of 160 meters, the

supporting structures being level. The
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(b)

conductor has an ultimate strength of
42.2 kg/mm? and the desired factor of
safety is 5. Find the vertical sag with a
wind pressure of 1.35 kg/meter 1¢ngth
and an ice coating of 1.25 cm,. Take
the density of hard drawn copper as
8.9 g/cc and welight of ice as 915 kg/m®.

6
Describe any method of improving the
string efficiency. 4

The self capacitance of each unit in a
string of three suspension insulators is O
The shunting capacitance of the connecting
metal work of each insulator to earth Is
0.15C while for line it is 0.1 C. Calculate:

(i) The voltage across each insulator
as a percentage of the line voltage
to earth, and

(i) the string efficiency. 6
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